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%HGHQ� 'H÷HUL� gOoH÷L��� 7\OND� YH�:RRG�%DUFDORZ� ������� WDUDIÕQGDQ� ELUH\OHULQ� NHQGL� EHGHQOHULQH� \|QHOLN� QH�
GHUHFH�ROXPOX�G�ú�QFHOHUL�ROGX÷XQX�YH�EX�G�ú�QFHOHUH� VD\JÕ�GX\XS�GX\PDGÕNODUÕQÕ�GH÷HUOHQGLUPHN�DPDFÕ\OD�
JHOLúWLULOPLúWLU�� �¶OL� /LNHUW� W�U�� ELU� |OoPH� DUDFÕ� RODQ� %HGHQ� 'H÷HUL� gOoH÷L��� ��� PDGGHGHQ� ROXúPDNWDGÕU�� øON�
DúDPDGD�|OoH÷LQ�øQJLOL]FH�IRUPX��L\L�G�]H\GH�øQJLOL]FH�ELOHQ���|÷UHWLP�HOHPDQÕ�WDUDIÕQGDQ�7�UNoH¶\H�oHYULOPLú�
YH�7�UNoH� IRUPODU� JHUL� WHUF�PH� HGLOHUHN�7�UNoH� YH� øQJLOL]FH� IRUPODU� DUDVÕQGDNL� WXWDUOÕOÕN� LQFHOHQPLúWLU��'DKD�
VRQUD�7�UNoH�IRUP�H÷LWLP�ELOLPOHUL�E|O�P�QGHQ���DNDGHPLV\HQ�WDUDIÕQGDQ�J|]GHQ�JHoLULOHUHN�ED]Õ�G�]HOWPHOHU�
\DSÕOGÕNWDQ�VRQUD�JHoHUOLN�YH�J�YHQLUOLN�DQDOL]OHUL�LoLQ�KD]ÕUODQPÕúWÕU�

%X�oDOÕúPDQÕQ�DPDFÕ��������\Dú�DUDOÕ÷ÕQGDNL�NDGÕQ�YH�HUNHN�ELUH\OHUGHQ�ROXúDQ�����NLúLOLN�|UQHNOHP��]HULQGH�
%HGHQ�'H÷HUL�gOoH÷L��¶QLQ�IDNW|U�\DSÕVÕQÕ�LQFHOHPHNWLU��gOoH÷LQ�IDNW|U�\DSÕVÕQÕ�RUWD\D�NR\PDN��]HUH�DoÕPOD\ÕFÕ�
YH� GR÷UXOD\ÕFÕ� IDNW|U� DQDOL]L� \DSÕOPÕúWÕU�� *HoHUOLN� YH� J�YHQLUOLN� DQDOL]OHUL� LoLQ� 6366� ����� YH� 5� øVWDWLVWLNVHO�
$QDOL]�SURJUDPODUÕ�NXOODQÕOPÕúWÕU��)DNW|U�DQDOL]L�VRQXoODUÕ�|OoH÷LQ�|]J�Q�IRUPXQGD�ROGX÷X�JLEL�WHN�ER\XWOX�ELU�
\DSÕGD� ROGX÷XQX� RUWD\D� NR\PXúWXU�� $QDOL]� VRQXoODUÕ�� %HGHQ� 'H÷HUL� gOoH÷L��¶QLQ� 7�UN� |÷UHQFLOHUL� �]HULQGH�
\HWHUOL� G�]H\GH�JHoHUOLN�YH�J�YHQLUOLN�GH÷HUOHULQH� VDKLS�ROGX÷XQX�YH�ELUH\OHULQ�EHGHQOHULQH�\|QHOLN� DOJÕODUÕQÕ�
GH÷HUOHQGLUPHGH�JHoHUOL�YH�J�YHQLOLU�ELU�DUDo�RODUDN�NXOODQÕODELOHFH÷LQL�J|VWHUPHNWHGLU�
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